
1. Which of the present state is supposed to be Kalinga Kingdom during Mauryan Empire?

A. Bihar

B. Orissa

C. Bengal

D. Gujarat

Correct Answer : B

2. Which one of the tribe given below rebelled against the British?

A. The godhara

B. The Bhils

C. The Labadis

D. The Mundas

Correct Answer : D

3. Which of these is a right given to a common man to choose the government?

A. Right to Constitutional Remedies

B. Cultural and Educational Rights

C. Universal adult franchise

D. Right to freedom of religion

Correct Answer :

4. Which of these is NOT a basic facility that government is responsible to provide?

A. Electricity

B. Water

C. Club and gymnasium

D. Schools and hospitals

Correct Answer : C



5. Sea caves are turned into stacks because of -

A. continuousstrike at the rocks and break the rock

B. wide cavities in rocks created due to earth quake.

C. loss of roof during corrosion leaving only walls

D. roof of sea cliffs

Correct Answer : C

6. Which of the following pair is NOT correct?

A. Crust - The solid surface of the earth

B. Tremor - Shaking of ground due to earthquake

C. Epicenter - The deep down place where an earthquake starts

D. Richter scale - A scale which classifies the magnitude of an earthquake

Correct Answer : C

7. The place where a building or a settlement develops is called its site. Which of the natural
condition is not an important consideration for the selection of an ideal site?

A. Favorable climate

B. Malls and shops

C. Availability of water

D. Fertile soil

Correct Answer : B

8. Which of these is a ubiquitous resource?

A. Copper

B. Petrol

C. Water

D. Coal

Correct Answer : C



9. A group of stars forming a pattern is called -

A. Universe

B. Galaxy

C. Constellation

D. Meteoroids

Correct Answer : C

10. Which one of given the Indian cities was not deurbanized during the nineteenth century?

A. Machlipatnam

B. Surat

C. Seringapatam

D. Bengal

Correct Answer : D

11. In 1911, when King George V was crowned in England, a Durbar was held in Delhi to celebrate
the occasion.

 Which of the following was a major decision taken at this durbar?

A. To shift the capital of India from Calcutta to Delhi

B. To design New Delhi by Edward Lutyens and Herbert Baker

C. To shift the capital of India from Calcutta to Bombay

D. Divide the India Into two country India and Pakistan

Correct Answer : A

12. Which of the following is raw material for Agro based industry?

A. Wood

B. Cotton and leather

C. Silk and leather

D. Iron and Aluminum ore

Correct Answer : B



13. Which mining practice is missing from the flow chart given below?
 

A. Close-cast

B. Exploration

C. Drilling

D. Shaft

Correct Answer : D

14. . The British believed that Indian society had to be reformed. Various Laws were passed to
promote reforms.

 Which of the reforms where not promoted by the British in 19th century?

A. Ban the practice of Sati

B. Ban the remarriage of widows

C. Law of Christianity conversion

D. Promotion of English-language education

Correct Answer : B

15. Who discovered South America?

A. Ferdinand Magellan

B. Vasco-da-Gama

C. Sir Francis Drake

D. Christopher Columbus

Correct Answer : A



16. “75% of earth’s surface is covered with water still there is scarcity of drinking water. Most of the
water is not fit for drinking as it is saline.”

 The sources of saline water on Earth are -

A. Ocean

B. River

C. Freshwater lakes

D. Ground water

Correct Answer : A

17. The Revolt of 1857 was one of the first wars of Indian independence against the British. This revolt
can be termed the first war of Indian independence against the British. Kings, peasants, tribals, landlords
and sepoys, all were dissatisfied with the British rule.

 The soldier who was hanged to death for attacking his officer in Barrackpore Cantonment was.

A. Bhagat Singh

B. Mangal Pandey

C. Kanwar Singh

D. Bakht Khan

Correct Answer : B

18. Which of the marked soil layers is richest in minerals?
 

 

A. P

B. Q

C. R

D. S

Correct Answer : B



19. How many houses are there in the Parliament of India?

A. 2

B. 3

C. 6

D. 7

Correct Answer : A

20. Which of these is not an original resource?

A. Coal

B. Uranium

C. Petrol

D. Wind energy

Correct Answer : B


